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= 1,200
= 2,800
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04 JI2ZtH22 XS E 6,467 4,311 2,156
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01 At 2teltl 11,950 11,950 0
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OHNb2e SHHE L2t 10,000
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O&E=SAMSXNE SHZARA 2124d| 2,633
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DHAL Hel 7,134 5,959 1,175
= 7,134
LA ESH AFA AL 7,134 5,959 1,175
= 7,134
101 eI d| 6,710 4,849 1,861
= 6,710
04 J12HH 22 NS ES 6,710 4,849 1,861
O2ZH ZH=s& a7 AFAZ A 124 H| 6,710
= 6,710
201 LBer29H| 424 1,110 686
= 424
01 AR 2teld| 424 1,110 686
OLMAES Ok 2= XNSaH 424
= 424
= UXIHE K& 143,400 2,500 140,900
= IXIEE K& 143,400 2,500 140,900
201 LBer2gH| 10,000 0 10,000
03 A2 HI 10,000 0 10,000
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OXNEWE At 10,500
SENELE 7,000
OFQUXNXAE d&H 8,400
NN sa8dst 1,837,714 1,630,020 207,694
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= 1,490,651
NEois4 1,837,714 1,630,020 207,694
& 347,063
= 1,490,651
NI =d K& 780,490 1,140,953 A 360,463
202 44| 12,000 12,000 0
01 =2 A bl 12,000 12,000 0
Ousla 4= 9,000
ONew-Brain 2030 & &IX| HIX| OH 3,000
306 £ 3 768,490 621,038 147,452
01 &9 = 768,490 621,038 147,452
OMSNEMNENH EHS 703,340
O2=zE2HE dd didg=Xds £ 65,150
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= 347,063
= 710, 161
308 AtXISHMSO0I & 1,057,224 489,067 568, 157
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OEH & DI N 56,455
= 25,091
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OstmZal AZH X 521,469
—x=Ssy 2,000& 976 « 180 «50% 175,680
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= 87,840
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OJI=gnuX& (II=sA S4H|) 64,800




SA HEXADL
T X DS

& Xdo e (&te: @2
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0 Ak oH @;OH Hon=s2t
—JIS A 24| 64,800
[~ 19,440
= 45,360
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OF A Atsr2 HEEZ ALY 20,000
[= 10,000
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OJI=8NNIY (T2 29)
50,000,000 50,000
[~ 15,000
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A M5t 878,773 819,980 58,793
= 33,372
2 30,000
[= 8,434
= 806,967
ML 29 468,577 565,719 N97,142
= 22,812
= 445,765
HEAAH 29 251,738 253,390 A1,652
201 LEH2AH| 173,475 173,883 A408
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OH2 S/W (WAl 2 2= QE2|E) 40,000
02 2229H| 127,067 127,067 0
osY 31,836
OZHOIX |SX2e 20,000
OFLAAE 2722 75,231
—SIEANH (M, AERIX) 27,174
—ATEQO(DB,EXNEAN S) 48,057
202 04 Hl 7,000 7,000 0
01 2ol 7,000 7,000 0
HESH 42 FX 6,000
OXZ30IE U237 1,000
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OANZ7 SSIIEH I AlAE |X2el
606,052,0002 7%+ 1. 1 46,667
SEH0 HE5 JstR= 140,000 184,000 44,000
405 XtatE S 140,000 184,000 44,000
01 AL S E 3 SH 140,000 184,000 44,000
OLIIs APRI121 1,300, 000& *50CH 65,000
OBLE3 s2H 7Y 25,000,0002 *3% 75,000
NZ? BHFIAALY SXH DA 2AR 66,750 66,750 0
= 21,312
> 45,438
201 et 66,750 66,750 0
= 21,312
= 45,438
01 At 22IH 66,750 66,750 0
OANZ? BEFBAIAL XY WA 242 66,750
= 21,312
2 45,438
ANZ2 Hol=2MA 2= elaz 10,089 0 10,089
= 1,500
= 8,589
201 Yer2 | 6,000 0 6,000
= 1,500
= 4,500
01 At222IH 6,000 0 6,000
OAZ7 MaH=SZHMH 25(= &Hl) 2las 6,000
= 1,500
= 4,500
308 XX SHHS0IA 4,089 0 4,089
05 RtXISHHIZt R =3 4,089 0 4,089
OAZF M= MH 2S5 (E &Hl) 2las 4,089
L2302 |4 82,604 37,760 44,844
= 10,560
= 30,000
[ 8,434
2 33,610
HLEsi0e 2% 8,600 9,400 A800
201 Ler2g | 2,000 2,000 0
03 A2 2,000 2,000 0
O30S #A FX 2,000
301 LEtEAS 6,600 7,400 A800
10 HAIAHIE &3 6,600 7,400 A800
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~H2S0IS B ASHA L DS
50,0002 +6 & 1«63 1,800
OF0l BISRE AR
30,0002 *4A| 24102 1,200
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= 8,434
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A230lg A2 M2MELD 48 A& 42,000 0 42,000
= 30,000
= 12,000
402 QI2t =01 ™ 42,000 0 42,000
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01 AtR2telH 3,500 3,500 0
oz 3,500
02 222l 162,030 170,749 £8,719
OosH 122,140
OFZESHAERmX 2el 39,890
—¥IDAL S22
149,546,000 *7%+1. 1 11,516
~#YEHIL YEAD RN
252,817,250 *7%+*1.1 19,467
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O&-AzZ2t HNEESEY sz 2= 24,752
405 RHebFE S| 79,310 17,500 61,810
01 AU S E 3 SH 79,310 17,500 61,810
OUEAIARH HsHA 79,310
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—[2A9X RH7L 2,365,000 x23CH 54,395
HEEN BAXY 58,000 0 58,000
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405 XtabE S 48,625 0 48,625
01 AU S E 3 SH 48,625 0 48,625
OQHUASI| F (2ol AELE)
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OdAIE OlsAHZT WH Y 8,000
SOEXY FUAINLYXNY 25 9,375 0 9,375
308 KX SHHSO0IA 9,375 0 9,375
05 RtXISHHIZt 23 9,375 0 9,375
OsHEXY ZHYEHA Y 25 22 9,375
HY2EAH (HZX D) 1,685,393 1,224,465 460,928
ol 2| 1,654,905 1,193,397 461,508
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101 QI 244 170,000 0 170,000
03 RIHA22XE S 170,000 0 170,000
ORIAAZ2X EXI3 170,000
203 YR FEXH 61,040 61,040 0
01 J|22d PR =8 39,600 39,600 0
OJ|22IdRFAH(Z=) 39,600
02 HRIItAr 2RIy 13,640 13,640 0
OF AR EAY 13,640
-7 = 80,0002 «100% 8,000
- = Ot 60,000 x94&H 5,640
04 BA2HR2FAY| 7,800 7,800 0
ORMNESY YRETH|(244)
200,000& «12& 2,400
ORNSY YRETH|(RE44)
100,0002 « 122 1,200
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